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Question 1

If a die is tossed 3 times then what is the probability of getting (i) two heads and (ii) consecutive two heads?
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Question 2

From a set of two playing cards one card from each has been drawn. Find the probability of getting ‘Queen of Diamond’ for at least one draw.
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Question 3

An urn contains 4 white and 6 black balls. Two balls have been drawn consecutively without repeating the other. If the second draw contains a white ball then
what is the probability that the first draw also contains a white ball?
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Question 4

From a set of 52 playing cards two consecutive cards have been drawn without any repetition. If the first drawn card is spade then what is the probability that
the second card is also spade?
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Question 5

A box contains 1 white and 99 black ball. If 1000 draw with repetition has been performed then find the probability of getting 10 white ball.
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Question 6

If a die is thrown 5 times then what is the probability of getting (a) one head, (b) at least 3 heads, (c) at most 3 heads ?
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Question 7



Find the value of ‘K for

which the function

f(x)
_{Kx(l—x),[) Cot L |
~ | 0, Elsewhere

becomes a probability density
function. Also form the
probability distribution

function and find P(x > %).
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Question 8

If a book of 500 pages contains 500 typing errors then find the probability of at most 3 typing errors in a particular page.
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Question 9

Let X be the random variable
denoting the number
appeared when a die is
thrown. Find E{g(x)}, where
g(x) =2x% +1,
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Question 10

If a random variable X has a

probability density

e 0<x
fx) = {U, Elsewhere
then find the expectation of
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Question T

Find the value of K for
which f(xy) = kxy, (0 <
x<1,0<y<x) is a
possible two dimensional
density function. Find
marginal density functions
and show that the variables
are not independent,
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Question 12



If X and Y are two
independent standard normal
variate then find the mean
of X¥Y?
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Question 13

A container contains 3 red balls and 2 white balls. A person draws 2 balls without any repetition. If the colour of balls matche then he earns Rs. 20 otherwise
he pay Rs. 20. Find the expectation of earning money.
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Question 14

The probability distribution

function of a variable X is

F(x)

1
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0, X <0
Find P(X=0) and P(X>1),
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Question 15

What is the probability of impossible event?
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Question 16

Two dies have been thrown. What is the probability that the sum of the numbers is greater or equal to 10?
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Question 17

What is the least number of times a die should be thrown so that the probability of getting any number except 6 is less than 0.5?
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Question 18

Three same type of containers have white and black balls only. First container contains 2 white and 3 black balls, second container contains 3 white and 5
black balls and third container contains 5 white and 2 black ball. One container is selected in arbitrary way and one ball is drawn from it. What is the probability
that the ball is white? If the ball is white then what is the probability of selecting second containers?
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Question 19

If A and B are two independent
events then what can you
conclude about A and B ?

I A 972 B 66

SN 2 OIEA A 8 B a9
Pl STE B(Q?

Question 20

If a die is thrown 10 times then what is the probability of getting 6 four times, 5 two times and rest of the numbers only once at a time?
HT5 T 10 I (RITT (A, B 41, A5 2-I17 & ST 4y JFAF B NG TSRAT F95?

Question 21

A and B are playing a game by tossing a coin in a consecutive manner and a player get first head win the game. If A starts the game then what is the
probability of A to win the game?
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Question 22

Among 500 people what is the probability of only one people hase birthday on 1st January. (Assume a year hase 365 days)
500 G (EIHA N7 fOF JFGH 47 Trufi NI A ST TSR B2

Question 23

Find the value of ‘K’ for which
the function

_(Kx(1—x),0< x< 1
B30 = { 0, Elsewhere
becomes a probability density
function. Also form the
probability distribution function

and find P(x < ).
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Question 24

Consider an arbitrary point X on a straight line AB. Let O be the mid-point of AB. Find the probability of AX, BX and AO to be the side of a triangle.
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Question 25

Let X be the random variable
denoting the number appeared
when a die is thrown. Find
E{g(x)} where g(x) = 2x? +

2.
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Question 26

If a random variable X has a
probability density

f(x)

_{2(1—:(), D<x<1
N 0 , Elsewhere
then find E(X")
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Question 27

Find the value of K for which

f(x,y)

_{K(l—x—y), 0<x0<yx+y=1
N 0 ,  Elsewhere

is a possible two dimensional density function
and find P (X<, Y > 7).
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Question 28

The probability distribution
function of a variable X is

1
e p X <
F(X):!l 2&' 5 0< x

0, x<0
Find P(X#0) and P(X<1).
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Question 29

Two random variables are
related by aX + bY + ¢ = 0.
For what relation between a
and b, p(X,Y) = —1?
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Question 30

Two regression equations are
x+ 6y =6,3x + 2y = 10.
Find means and correlation
coefficient.
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